=~ W N

© oo =~ O Ot
N N i N

243 + 606 =
378+ 937 =
640 + 594 =
13 4930 =

200 + 564 =
734 + 481 =
562 + 487 =
881 4 154 =
155 + 888 =
399 + 759 =
795 + 65 =

980 + 605 =
798 + 31 =

275 + 484 =
942 + 899 =
807 + 943 =
745 + 820 =
987 + 958 =
374 +99 =

506 + 222 =

Addition up to 1000 #3
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507 4133 =
018 + 485 =
67 + 620 =

857 4 480 =
239 4+ 196 =
593 + 856 =
406 + 654 =
237 + 650 =
948 + 535 =
15 4 687 =

163 4 776 =
43 + 308 =

843 + 886 =
609 + 736 =
396 + 731 =
437 4 404 =
590 + 455 =
137 4 899 =
36 + 139 =

204 + 988 =



B~ W N =

© oo = O Ot
_ O e T T T O

Addition up to 1000 #3 (Solutions)

243 + 606 = 849
3784937 =1315
640 4 594 = 1234
13 + 930 = 943
265 + 564 = 829
734 4+ 481 = 1215
562 4 487 = 1049
881 + 154 = 1035
155 4 888 = 1043
399 + 759 = 1158
795 4 65 = 860
980 + 605 = 1585
798 4+ 31 = 829
275 4 484 = 759
942 + 899 = 1841
807 4+ 943 = 1750
745 4 820 = 1565
987 4+ 958 = 1945
374499 =473
506 4 222 = 728
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507 + 133 = 690
618 + 485 =1103
67 4 620 = 687
857 4+ 480 = 1337
239 + 196 = 435
553 + 856 = 1409
406 + 654 = 1060
237 + 650 = 887
948 + 535 = 1483
154687 =702
163 + 776 = 939
43 4 308 = 351
843 + 886 = 1729
609 + 736 = 1345
396 + 731 = 1127
437 + 404 = 841
590 + 455 = 1045
137+ 899 = 1036
364+ 139 =175
264 4- 988 = 1252



